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According to Abayay it is understood - R751 992RY

Overview

The X313 inferred from the 71wn that if there is no 72 in the adjacent field there is
no need to distance his 712 from the property line. This (seemingly) supports the
view of »aX that even in a mM2? 7"WwWyn 77w, one may dig his ™2 at the boundary
(as long as there is no other 712 in the adjoining property). mdoI1n qualifies this
proof.
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Now (when we support »aX from the inference of the 771wn) we assume that when
the 7awn stated that he needs to distance his M2 from 1712 »m>, that means from
the cavity of his =13, so he was not precise in his language.

Summary
The X713 assumes now that 1712 5127 means 1712 2900,

Thinking it over
According to this 7"0, how much must the second person distance his 112 from 55m

1730 Sw 122’

! The mwn stated 1171 5n1an P17 2"RR, and we (7717 "1 ,»2R) interpreted it to mean 1772 HMon; that one does not
merely distance from the cavity of the 112 but rather from the 9> of the 112, which is three o°ndv. See 2non 7"7 'on
[TIE footnote # 1 & 3] that we derive from 1712 2mbon that even the first person must distance himself, so how can
our 771w support the view of »ax.

? Therefore we must say that at this point in the X1 when it said »ax> xm37 it assumed that Yn2» meant from the
cavity of the 712 and it assumed that the 71wn was not precise when writing 2012, for it did not mean actually 2n1on
but rather the cavity (which is adjacent to the inner part of the 2n>).

? See "W WITN (perhaps this is (also) included in the W92 P7P7 X2 which '01n states).
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